Strong Opening Bids

Acol 2-bids

Used to show a hand of power and quality. An opening bid of 2(, 2( and 2( show a hand worth about 8 playing tricks in the suit bid, or possibly a strong two-suited hand with similar strength.

Examples:
( A K Q 9 8 7 3  ( 3  (A J 10  ( 9 2

Open 2(


( A J 10 8 2   ( A K  ( K Q J 5 4 
( 8

Open 2(  (then bid ()



( A Q J 9 7   ( A K Q 5 3 2  ( 9 3  ( Void

Open 2(  (then bid ()



( 4   ( A Q 7  ( K Q J 10 6 5  ( A K 6

Open 2(
The idea is that if you were to open with a bid of one of a suit partner may pass and you may miss game (or even a slam!). The bid is forcing for one round (i.e. partner must respond)

Requirements to open 2(, 2( and 2(:

· 7½ / 8 playing tricks

· a six card or two five card suits

· top cards in at least two suits

Responses:
2NT is the Negative Response. It denies the ability to make any other response. Having given a negative response, responder may pass on the next round if opener makes a simple rebid of the suit that he opened or bids a second suit without a jump.

Positive Responses

Any positive response is forcing to game (at least!).

A single raise (e.g. 2( - 3( ) promises a fit and an ace. The hand may have little more than those minimum requirements or it may be a strong hand, when responder will explore for slam.

Examples:
Opener bids 2(

( Q 8 3  ( 5  ( A 9 6 5  ( 10 8 7 4 2

raise to 3 (





( K 5 3  ( A K 8 4  ( K 7 5 4  ( Q 5

raise to 3(
Double raise (e.g. 2( - 4( ) shows trump support with two second-round controls (Kings or singletons) but denies an Ace (with an Ace, responder would make the stronger single raise, leaving more room to explore for a slam). A single raise is stronger than a double raise.
A response in a new suit (e.g. 2( - 3() shows a good 5-card or longer suit and 7+ points. Lacking these basic requirements, begin with an alternative response (perhaps even a negative 2NT, and then show signs of life later in the auction). Do not respond in a bad suit.

A jump to 3NT (e.g. 2( - 3NT) indicates a balanced hand with 10-12 points

A jump in a new suit (e.g. 2( - 4() promises a solid suit (AKQxxx at least)

Opening Bid of 2 No Trumps

This shows a balanced hand with 20-22 points (but a “good” 19 point hand may be upgraded to be treated as 20 points). The hand may well contain a 5-card minor suit, or even a 6-card minor suit on occasions if the bid seems otherwise appropriate, e.g.

(
A Q 4

(
K 9

(
A J

(
A Q 9 8 5 3

It is probably best to open 2NT even holding a 5-card major suit if the hand is otherwise suitable, especially if the suit is limited in strength, e.g.

(
A Q 4 3 2

(
K 9

(
A Q 9

(
A Q 9 

A reminder on how the 2NT opening fits into our schedule of bidding balanced hands:

12 – 14


Open 1NT (see separate section on the opening bid of 1NT)

15 – 16 


Open 1 of a suit, intending to rebid in No Trumps    
     

 e.g.  1(   -   1(











        1NT 

17 – 18 (or a “bad” 19)
Open 1 of a suit, intending to jump rebid in No Trumps  e.g.

         1(   -    1(











        2NT

20 – 22 (or a “good” 19)
Open 2NT

23 – 24


Open 2( and rebid 2NT

Responses to a 2NT Opening:

3( 


Stayman ( a response of 3( denies a major in response)

3(, 3(, 3( 

natural and forcing: 5-card or longer suit

3NT 


to play

4NT 
a quantitative raise  (opener may pass with a minimum or bids 6NT with a maximum). This raise would suggest about 11 or 12 points, so that, if opener accepts the invitation to bid 6NT with a maximum, the combined points in the two hands is about 33 or 34 (the values which should make 6NT a fair contract).

For an improved method of responding to a 2NT opening bid see the section on Transfer Responses

Acol 2( Opening Bid

The artificial opening bid of 2( shows a super strong hand with either 23+ points in a balanced hand (i.e. too strong to open with an Acol 2NT bid) or a hand that is too strong even to open with a strong, forcing bid of  two of a suit. Examples:

( A Q J 8 4  ( A K Q 5  ( A Q J  ( 9

( K Q 7  ( A Q 9 6  ( Void  ( A K Q J 6 3

( A 9  ( K J 10 6 4 3  ( A  ( A K J 6

( A J 7  ( A Q  ( A K Q 7 2  ( K 3 2

( A K  ( K J 4  ( A Q 8 3  ( A K Q 9

Responding to a 2(Opening

Negative Response:

The response with less than 7 points is an artificial bid of 2(. The opener rebids naturally, showing his long suit or rebidding NT on a balanced hand. On the example hands above, the rebid would be 2(, 3(, 2(, 2NT and 3NT respectively. The opening bid of 2( is forcing to game *

* Exception to the rule:  there is only one situation where the opening bid of 2( is not forcing to game. If, after a 2( negative response, opener rebids 2NT, he is showing a balanced 23-24 points. With absolutely no values, responder may pass this 2NT rebid. 
However, with as little as 2 or 3 points he should bid again, responding to the 2NT rebid in a similar manner to the way in which he would respond to a 2NT opening bid (i.e Stayman, 3( and 3( forcing, or, if you play them, transfer responses). Remember how strong the opening hand is before you take this decision to pass the 2NT rebid.

N.B.  if opener, after 2( - 2(, makes any rebid other than 2NT, the responder must keep the bidding open until game (at least) is reached.

Positive responses to a 2( opening:

2(, 2(, 3(, 3(         7+ points and a 5-card suit, or a



2NT     balanced 7-9 points

                                   4-card suit headed by the A or K


3NT     balanced 10-12 points

Responses with good suits (optional):


An opening bid of 2NT is more sensible than opening with a bid of 1(, and an opening bid of 2( would overstate the strength of the hand





An opening bid of 2( is unattractive with such a poor suit, and an opening bid of just 1( risks partner passing and missing a game. Open 2NT.





These hands are so strong that opener is prepared to commit the partnership to a game contract even if partner holds a dreadful hand.





If this seems excessive, try to imagine the first hand opposite a dummy containing just five small Hearts -–game is almost certain.





Opener           Responder








2(	-        3(, 3(, 4(, 4(                





a solid 6-card or longer suit    (AKQJxx or better)





Opener           Responder





    2(                2(


    3(                4(





after a positive response, a jump rebid shows a one-loser suit (e.g. AQJ10xx or KQJ10xx)





Opener         Responder





    2( 		2(


    2(		3(





after a 2( response, the jump indicates a two-loser suit (e.g. QJ109xx or KJ109xx)








